&=

10 B /2 A IR AY
[ — DL )

R v K 4 NET HDCP TOTAL ouT [N OUT NET
B B =FHyg 69 27 96 (48 48 ) 345
267 FAE &= 70 15 85 (40 45 ) 325
3 F9HE Az 70 16 86 ( 44 42 ) 36.0
4. BA THE 74 8 82 ( 38 44 ) 34.0
b  EiE s 74 16 90 (42 48 ) 340
6. EFHEE 74 18 92 (45 47 ) 36.0
TR FARE ZEE 74 10 84 (43 41 ) 380
8L SHH 74 28 102 ( b4 48 ) 40.0
Ofr R EFE 75 11 86 (40 46 ) 345
107 ®EHE sk 75 15 90 ( 44 46 ) 365
20 FE = 78 19 97 (48 49 ) 38.5
3017 BIFT 24l 81 28 109 ( b3 56 ) 39.0
BBE  FEM F01E 89 9 98 (50 48 ) 455

BGE MK & 76 (40 36 )

2024F10819H (L)
BRI T{EZER

[ =7 LTAADES ]

JE L K £ NET HDCP TOTAL QuUT [N OUT NET

' B =EEHT 712 29 101 ( 53 48 ) 385
260 £ E— 73 16 89 ( 46 43 ) 380
L =R MBE 74 30 104 (51 53 ) 36.0
A EE E=— 74 15 89 ( 44 45 ) 365
b =EE C 74 10 84 (43 41 ) 380
6 LUK IE 75 10 86 (45 40 ) 400
6L K IER 76 23 99 (50 49 ) 385
84 XE I 76 15 91 (47 44 ) 395
9z A BA 76 11 87 (47 40 ) 415
106 18K BETF 76 9 85 (47 38 ) 425
206 RBIR ZE 79 27 106 (51 55 ) 375
30 XE =f2H 82 5 87 ( 44 43 ) 415
4061 MR BE 88 11 99 (45 54 ) 395
BBE &M #a 96 28 124 (58 66 ) 440
Par 72 1—XL—}  xO—JFL—k

BE(EF) 6,606 yard 713 128

EE(R) 6,237 yard 69.5 123

BE(&) 5892  vyard 68.1 119

BE(E) 5281 vyard 64.9 114

(%) 5,281  yard 70.1 123

ZHE(R) 4,878  vyard 67.8 119




